FOURTH SEMESTER B.Com. DEGREE EXAMINATION, APRIL 2018
(CUCBCSS—-UG)
BCM 4C 04SQUANTITATIVE TECHNIQUES FOR BUSINESS

Time - Three Hours Maximum : 80 Marks

Part A

Answer all Questions.
Each question carries 1 mark.

1 Two events are saud to be independent if -
‘a Each outcome has equal chance of occurrence.
b There s the common point in between them.
(€1 Une does not affect the occurrence of the ather.
‘d) Both events have enly one point.
2 MPA) =05 P(B) =03 and the events A and P 2re independent then P(AUB)is:
(a) OB, (h: 015
(e) 008 dy 0015

3. For Bernoull distribution with probalbniity p of a success and g of a failure, the relation between
mean and varnance that hold s

(a) mean < vanance (b} mean > variance.
(¢) mean = vananece. (d) mean <
4. A hypothesis may be classified as
(a) Simple. (b) Compaosite.
(¢) Null (d) All the above.

5. - distnbution ranges from :

(a) - = o0 (b} Ot =.
(c) - o to x. d Owl
Fill in the blanks :

6. The probability of an impossible event is .
7. The mean and vanance are ——— in Poisson distribution.
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When p= 0 and o = 1 the normal distribution 1s called ———
When the hypothesis is false and the test accepts it this is called ——.

The variance of a binomial distribution 1s 2. Its standard deviation 1s

uugl.sIOmrkS)

Part B

Answer any eight questions.
Each question carries 2 marks.

What is Complementary events ?
What is Sampling Distribution ?
What 1s Alternative Hypothesis ?

What is Coefficient of Determination ?
What is Addition theorem on probabilities for mutually exclusive events ?

What are the uses of Probable Error ?
What is vamance ?

What 1s zero correlation ?

What is standard error 7

What are the conditions for binnmial distribution ?
(8 x 2 = 16 marks)

Part C

Answer any six questions.
Each question carries 4 marks.

What are the different methods for measuring coefficient of correlation ?
What are theoretical distribution ? Explain its classification.
What is hypothesis ? What are the different types of hypothesis ?

. Explain merits and demerits of standard deviation?

The Co-eﬂicientofmnkcomlationofthamhobuinadbylolhnd-nhhlhﬁlﬁulndlngﬁlh
was 0.2. It was later discovered that the difference in ranks of ons of the students was wrongly
takes as 7 instead of 9. Find the correct result.

Two sets of candidates are competing for mpoﬁﬂm:mﬂnﬂuﬂdﬁmﬂamy.m
probabilities that the first and second sets will win are 0.6 and 0.4 respectively. If the first set wins,
the probability of introducing a new product is 0.8, and the corresponding probahility if the second
set wins is 0.3. What is the probability that the new produet will be introduced ? |



D 41921
27

Eight coins are tossed simultaneously Find the probability of getting at least six heads.
You are given the following data about advertising and sales

Advertisement (in LakAs)

Sales (in Lakhs)
Mean 10 90
Standard Deviation 3 12
The coefficient of correlation is 0.8. Calculate two regression lines.
(6 % 4 = 24 marks)

Part D

Answer any two questions.
Each question carries 15 marks.

29 What is correlation ? Explain the various degrees of cocvelation.
A test was given o five students taken any at random from the fifth class of three schools of a

town The individual scores are

School | ] ki 6 5 ]
School 11 7 4 5 ‘ 5
School 111 5 6 6 7 e

Carry out the analysis of vanance
31, The following table gives the result of the SSLC examination of a town held in March 1906 :
Age of candidate : 13 14 15 16 17 18 19 20 2

Percentage of fmilure : 39 41 43 34 37T ¥ 49 47 068
Calculate co-efficient of correlation and estimate probable error and standard ervor.

(2 x 15 = 30 marks)



